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Solving Quadratic Equations  feh

Recall: To solve is to find the value(s) that satisfy

We often use this technique
to find the zeroes, or roots,
of a quadratic relation.

Ex.1 Solve x*+4x-12=0
R+ )(%-2)=

Axb=0 R %~2=0
r==(, na

(A

the equation, or make it true.
— b +2Z

izoll
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Factoring is not the only option:
Ex.2 Solve x* - 6x - 27 = 0 by completing the square.

7'1-61-??=0 —_D (‘x—ﬁ)(;u—’s)a
2 i3-9-2% = O

G- -6=p K r =4
z=x(4y
(7.—'5)" = [, x4+
-3 =tm
'x—gj-:;\:(,
v g
x-3=0 *x-3 =~
=9 x=-23

O
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Ex.3 Solve 2x” - 5x - 1 = 0 by completing the square.
Z'-S2-1=0 -£x -__2_
202-8)-1=0 (g2
2(a* §z+w’ '3_\ 0
z&/ B0 £0H)
2(x-§ )_29_ a0 ArEe-E
Z("-"q) - _
,,2(»%) <3y
(x-i) %
x= % ".".E —~
ﬁ'*n'&@ e
e g
=G (M
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Recall: The general quadratic formula

Given ax’ + by +c =0, the solutions are:

~b++b* —4dac

2a

X =

The number of real solutions can be determined
from the discriminant, 42 — 4ac:

~

b* —4ac>( two real solutions
b* —4ac=0 one real solution

b* —4ac<( no real solutions
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Ex.4 Solve 2x” - 5x - 1 = 0 using the general quadratic
formula.

A = ’Li\h’z‘qﬂc %,_
Za ¢

x =~ )t 4@ -1)
2(2)

x= S ry2s+ 9

i
|

= S'iﬁq
q
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Given the relation y = ax’ + bx + ¢, any of these methods
can be used to solve for any value of y.

Consider y = x* +6x, and
solve for y=-8 .

-3 = x"-&-l‘,z_
O=%"+bx+3

0= +2)(x+4)

x=-2 R x=-%
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Assigned Work:

p.128 # 20dd, 3ace, 4ace, 12ac, 130dd
p.130# 17, 21, 23, 28ab, 29

Feb 10-10:23 PM

3@) z2'Hex+4=0
2 4bx 49-9 +4 =0
(‘)L-FS)?' -S =0
(x+3}2= <
A+ = r\fg’
=<

0

A= .3.\.“? R =3=C
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4te) Zw-b=-Sx" 2 1. 2
[ A

g:. +22-b=0 ‘é
“?"3"' B

Feb 14-9:09 AM

4(4) 24482 4S=0
2 (x"l- ‘/n) +5=0
2(o 44 F-4)+S=D

@L(‘yvO

2(7“"'2)2 ? +T=0 J b;”

2(1-!-‘2) =3
A+2 =2 ) SI“PM

x=-2 i\(—; x‘s\‘;

x=-2 3 ¥&

ra =-§ '.I'.%_g
x=-42{®

-
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2. ; A= 3bh
AR
—i 2 (0= %42,
htz—> 2
—_— 0=h"+2h~1D
0=(k'+zk+l-\ -0
0=(h+1)*l
(Y=
W+ = {11
W==1xd
h=-1+{T, W>D
b=ht2

=-\-§JW+Z
= \"‘\f‘T

=4z

" R base ‘k"“*“'.“a“ is Y 3em
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